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Lesson 9-1: Subsidiary Ledgers and Lesson 9-2: Accounting for Merchandise Lesson 9-3: Posting from the Purchases Journal
Maria is in need of more inventory, but she doesn’t want

Controlling Accounts Purchases
9 her Accounts Payable to become too high. She needs to
Maria has opened an ice cream shop named Maria’s Journalize the following transactions. Use page 1. post her most recent Purchases Journal to see the accurate
Cool Treats. Maria has many vendors she buys her balance of her Accounts Payable.
treats from. To keep these vendor balances up-to-date On July 5th, Maria purchased 500 more regular ice 1. Post the last two entries on the Purchase Journal
and ensure payment by due dates, she has created a cream bars from The Frozen Tundra, for a total price of (page 1) to the subsidiary ledger. Use date July 29.
subsidiary ledger for her Accounts Payable. $300, P53. 2. Rule and post the whole Purchases Journal (p. 1) to
just the AP account (the total is shown for you). Use
Start a new accounts payable o = On July 10th, Maria purchased 40 more Strawberry date July 29. What other account is affected by totaling
ledger page for Seeman’s Ice = = Shortcake bars from Really Cold Treats, for a total price the Purchases Journal? Debit or credit?
' 2 ? ?
Cream. As of July 1, Maria owes [l n of $50, P54 3 16|Raallv Cold Treats & 125.000s
them $555 dollars (balance), and oo Lo 1o 1, 20 The Frozen Tondea 33 18500l
they are vendor number 250. g -
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SALES JOURNAL PAGE 1
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CASH PAYMENTS JOURMNAL PAGE 1
hl = k3 A 5
ACCOUNTS |PURCHASED]
Ck. | POST. GEMERAL PAYABLE | DISCOUMNT CASH
Al oate ACCOUNT TITLE no. | REF. DEBIT CREDIT DEBIT CREDIT CREDIT
FLRE
| Axe. 2 |Ezaman's Iee Cream 167 55500 11.10 543 904
10| The Frozen Tundra 170 300.00 15.00 285.00]:
1 31| Totals 110.00 855.00 26.10 538.50(+
...M WERDOR  The Frozen Tundra YERMDOR MO, 270
[e]
s S = POST. CREDIT
w o O o DATE ITEM FEF. DEEIT CREDIT | BEALANCE
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v 32 g _ Tul. | 1|balance - 195.00 195.00
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CASH PAYMENTS JOURMAL PAGE
1 Z k] Ll 5
ACCOUNTS [PURCHASES
Ck. | POST. GEMERAL PAYABLE | DISCOUMNT CASH
OATE ACCOUNT TITLE MO, REF. DEEIT CREDIT DEEIT CREDIT CREDIT

FL

Accounting for

Lesson 9-4
Cash Payments

TIC

e On August 2, Maria wrote a check (# 167) to Seaman’s Ice Cream to pay for Purchase Invoice 48 for
S555, less a 2% discount because she paid early.

e On August 5, Maria wrote a check to (#168) replenish her petty cash. A total of the petty cash slips
shows the following expenses: postage expense: $42, misc. expense $16. Petty cash is always replen-
ished to $100. The cash still left in the box is $40.
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Lesson 10-3

Lesson 10-2
Posting from the Sales Journal

Journal

CASH RECEIPTS JOURNAL PAGE 1
1 2 3 4 5 B T g
ACCOUNTS SALES TAX SALES
DOC.|POST. GENERAL RECEIVABLE SALES PAYABLE _ |DISCOUNT| CASH
DATE ACCOUNT TITLE NO. | REF. | DEBIT | CREDIT | CREDIT | CREDIT CREDIT DEBIT | DEBIT
203
Aug | 28] v TS1| ¥ 1,060.25 20.90 1,081.15
20|Belivue School R100 75.00 1.50 73.50
TS2| v 2,015.40 39.00 2,054 .40
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CASH RECEIPTS JOURNAL PAGE 1
i : 3 4 5 B 7 8
_ ACCOUNTS SALES
DOC. |POST] GENERAL RECEIVABLE SALES |SALES TAXPAYABLE|DISCOUMT] CASH
DATE ACCOUNT TITLE WO | REF.[ DEBIT | CREDIT | CREDIT | CREDIT | DEEIT | CREDIT | DEBIT | DEBIT
i i
2 2
Maria recently installed a cash register to record her cash sales for the day. On her first day, her
cash register slip showed a total of $1060.25, plus sales tax of $20.90. TS1.
Record this transaction, dated 8/28.
The next day, she received a check from Bellvue School for Sales Invoice 101($75.00), less a 2%
discount. R100. Record this transaction.
SALES JOURMAL PAGE 1
1 ] 3
ACCOUNTS SALES TA
SALE |POST RECEIVABLH SalEs | PAYABLE
DATE ACCOLINT DERITED MO | FEF DEEIT CREDIT CREDIT
2013
[Aug | 13| SuperFill 100 26625 250.00 16.25(
2 15 |Bellvue School 101 75.00 75.00 z
3 18 |Rockie's Gas 102 106_50 10000 650 =
4 31| Totals 447 75 425 00 22 75|+
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Accounting

Payment of a Dividend

Using the General Journal

GENERAL JOURNAL PAGE 5
1 2
DOC. |POST. GENERAL
DATE ACCOUNT TITLE NO. | REF. DEBIT CREDIT
2018
1Sep. | 15 M12 2.500.00 1
2 2,500,002
Maria has become public, meaning her company is now 3 .
owned by herself and other individuals who bough stock 3 m 3 ”
w .-
(shareholders). She has had a profitable quarter, so she .ﬂm um M =
Q
decided to pay her shareholders dividends of $2,500. m .m 3 m
Complete the journal entry for this transaction. 2 < pw = g
= m o m = ﬂ
2 3 e SR
= 2 5 = = 5
= 2 E B =z S
GENERAL JOURNAL PAGE 4
1 z
DOC. |POST. GEMNERAL
DATE ACCOUNT TITLE NO_ | REF. DEBIT CREDIT
2019
|Sep.| 10 CM10 42.00 1
g 273 :
3 44 73|
4 12 M1l 65.00 4
5 65.00(s

e SuperFill would like to return $44.73 worth of the ice cream they purchased due to it being expired. The total

tax for the amount is $2.73. The entry is partially journalized for you. Complete the journal entry.

e Maria accidentally put a sale for $65 onto Buffalo Coffee Shop’s account. The correct account is Rockie’s Gas.

The entry is partially journalized for you. Complete the journal entry.

GENERAL JOURNAL PAGE 4
i z
DOC. |POST. GENERAL
DATE ACCOUNT TITLE MNO. | REF. DEBIT CREDIT
2013
1|Sep.| 2|Supplies--Store M10 165.23
2 16525
3 3 DM10 100.00
# 100.00

Transactions Using a General Journal

Lesson T1-1

TIC

e  Maria bought supplies for her store from Office Plus and used her charge account. The entry is partially journal-
ized for you. Complete the journal entry for this transaction.

e Maria accidentally bought 100 too many Orange Sherbet bars from Seaman’s Ice Cream, worth $100. She would
like to return them. The entry is partially journalized for you. Complete the journal entry for this transaction.
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Lesson 12-3

Lesson 12-2

Lesson 12-1

123172019

EARNINGS RECORD FOR QUARTER ENDED
Marital Withholding
Employee No. 1 Last Name Kline First Name Kathy Status M Allowances 1
Rate of Pay 514.00 Per Hour  Social Security Number 000-11-2222 Position  Cashier
1 2 3 4 5 L T & a 10 1
Accumulated
Pay Period Earnings Deductions Earnings
Federal | Soc. Sec. [Medicar| Health [Retirement Net
No.| Ended Regular | Overtime Total Income Tax e |Insurance| Plan Total Pay $ 543060
7 1215 $ 1,120,000 | % 63.00( 5 1,183.00( S 119.00 (S 73.35( % 1715(S 30.00 |5 25005 204.50
g 1231 $ 1,050.00 | % 200003 1,250.00 | S 12600 % 7750 S 18.13(% 30008 25005 276.63

Calculate the Net Pay for each pay period, as well as the Accumulated earnings for both pay periods.

Kathy’s W-2 is listed below. Using the Tax Withholding chart

below, calculate her income tax. Calculate her Medicare

and Social Security taxes also. (Assume all wages are subject
to SS/Medicare)

Earnings
Maria has opened a new location hired three
employees to help her. Kathy Kline is paid

$14.00. She is a regular employee. Any hours
over 40 in a WEEK are overtime. Calculate her

total earnings this week.

Monday—9 hours

Tuesday— 7.5 hours
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(taxable And you a Employee's Withholding Allowance nan_mom.ﬁ )
1 » Whather you're entitied to claim o certain number of
__enb____ﬁ‘u l5— .:_iﬂ.n_!s:s.:s.nm ‘!_éa!inisgugazi_ﬂi.u?._ﬂ.
name and midds initia name |2 Your sacial sscurity number
I
Al But Single | Married | Marmied __ Head of “adkivesa b and Si6et of Fural Tous 3 Flsinge
least  less filing filing |a& oet
N B - gy i ty or town, state, and 280 code 4 It your [ast name differs from that shown on yaur social security cand,
< than _D_.=5._ SEpE _._._.__um._ml _’n._!.._. hera. ¥ou must call 800-772-1213 for a replacement card. B
lm _N._m_w_ 0 _u number of allowances you're claiming (from the mcv.ﬂ.?.a workshest on _ﬂ‘mam_.ms_uj.n. P 0 wirend ke
-~ Additicnal amourt, f any, you want withheld from sach paycheck
IM ..—.ﬂ:w tax Is T |claim exemption from withholding for 2018, and | certify that | meet both of the following nn__._n:.n__..m for examption.
< » Last year | had & ight (o & refend of all federal iIncome tax withteld because | had no tax labilty, and
» = Thus yaar | axpect a refund of all federal income tax withheld becausa | expect to have no tax lability
yd : >
w “ ucac ry, | declars that | have seamined this _um.______ﬂ_ " J_._n_ o _._m best a“ my .._._a_,._na__._m and bakat, it is true, comect, and complate.
l 's s tur
x _m.”nga.hnoﬂu.“hﬁ”a_mmm you sign it} » Date » ...G_ L0 =
S 1,000 1,025 101 10 10 101 ST |1 Evmor diwicaion
1,025 1,050 104 104 04 104 1 47-4236456
o i 106
d 1,050 1,075 106 106 108 108 For Privacy Act and Paperwork Reduction Act Notice, see page 4. Cat. Mo, 102200 Farm W=4 (2019}
S
N ine’ .
Da, Kathy Kline’s gross pay last paycheck was $1,049.50. Gross Income: $1,049.50

Total hours

Income Tax: Medicare:
SS Tax: Net Pay:
s
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GEMERAL JOURMAL PAGE 5
1 =
DOac. |POST. GEMERAL
OATE ACCOUNT TITLE MO, | BEF. OEBIT CREOIT
FLRE]
et 15 MI1S 63045 1
w__ Social Security Tax Pavable 305 30|
vy . - =
M u__ Mladicare Tax Pavabla 185.15]|=
o n__ 8.75(
= |l 182.15s
o L1} LI
W/ Maria needs to journalize her tax (employer) tax liability. First, which four taxes to EMPLOYERS pay?
Q
1.
2.
3.
4,
Complete the journal entry above by entering in account titles.
CASH PAYMENTS JOURMAL PAGE 1
1 z e q 5
ACCOUNTS [PURCHASES
Ck. | POST. GEMERAL P&vAELE | OISCOUMT CASH
DATE ACCOUNT TITLE NO. | REF. DEEIT CREDIT DEEIT CREDIT CREDIT
019
et | 15 175 4.522.95 1
E Emgployvee Incoms Tax Payable 31560 B
1 Social Security Tax Pavable 42250 i
Medicare Tax Pavable 76.30 =
o Health Insvrance Premivms Pavable 135 00 a
1 Retirement Contribustions Payable 305.70 o
Maria is journalizing the payment of her most Social Security Tax Payable = $ 422.50
recent payroll. .
pay Medicare Tax Payable = $ 76.80
Using the following information, complete the .
journal entry. Health Insurance Premiums Payable = $ 135.00
Gross pay for the pay-period = $4.522.75 Retirement Contributions Payable= $ 305.70
Employee Income Tax Payable = $ 315.60
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Lesson 13-3: Reporting withholding  Lesson 13-4: Paying Withholding and

and Payroll Taxes Payroll Taxes
Maria has to file her quarterly 941 report Which three tax liabilities do we pay
to ensure she is depositing accurate tax (generally) as a monthly deposit to the IRS?

amounts each month.

Total Federal |[Employee [Employee . - ~1
: . Maria is required to make o .
Earnings |Income |SS Tax Medicare . 8 gle
Tax Withheld | Tax with- monthly tax deposits for o
due liabilities. She is pay- § g g
TTHEEE $6,824.00 $540.00 $423.09  $ 98.95 ing her a5
September tax liability on E, s
7,21400 580.00 447.27  104.60 October 15th via EFTPS, [& f«; 7 |8
. B g
m 6,985.00 560.00 433.07  101.28 the online portal. .=
Journalize this transaction. m o
b
Complete part of the 941 below by Income tax libilty: 7
calculating and entering the monthly tax $678.20 3
. . P =
deposits and total quarterly tax liability. zo | |3
p q y y Social security liability: ® er E
it $1,539.91 23 |ls
Tax liability: Month 1 [ A NS
Medicare liability: o 'g
Month 2 i 360.14 Bl
o
m
e
Month 3 ' A b
, = Our payable (liability) =
Total liability for quarter p accounts have a normal . 2 g
balance of a , =R
. . - 2=
What is the employer medicare tax S0 to reduce them (since "2
percentage? we are paying our tax lia- % § g L. %
= C
bility with our monthly R
What is the employer social security tax deposit) we will 9
85 He
percentage? them. =7




